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(A) 4
(B)4&
(C)rr
(D)#

2. PIHP ARV REREARL ?
(A)7 &
(B) g %
(C)## vk
(D) & &

3. TARMARRT Y AF T EEKE B R T
(A) ¥ it

(B) B M

(C)# p& 4w

(D) fix 4

4. WirprH FFTARBE EF by ?
(A)R &
(B)-k jz
(C)¥
(D& @

5, TR A&SET 23 BN AR ERERZ?
(A)= & 3=~ 2

(B):= 4~ 7% 2

(C)"Me 3¢ B 2

(D) B =k #5 B i B 2
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7. TP fARET N A EBEHBRR?
(A)%& $3F 4
(B)ip 3% £
(C)F % ih 4
(D) 45 i&

8. MEIe LN A RRRAEE > TR mE MEAag PR
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(A) 35 F

(B)™ 7

(C)i #~

(D) 2 %

9. AvB- i & e waF EBAX B AT 5 e AR %
% Al % B?

(A)2 i #

(B)E

(C)#

(D) § i

10, ol fd v T RiEsfah?
(A)= = &9 (hemoglobin)

(B) & # %9 (glutenin)

(C)3 #*9¢ p* (pepsin)

(D)* & #v (collagen)
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(A2 % A:4n§ 1

(B)ws #B6: %25 * BRF Ik

(C)iad #C:14 2B R v &

(D) 4 4 D:diE
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(A)# =
(B) 4 "=t
(C)## w2
(D)§ » i
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(A)ig * % %7 25 3 FIE ¢ & % k=
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(Cyfe f=7 & * Fac & 0.015 e T
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14, 21054 § 4 (A 3 £40)> 4ok fats > L =g 2122
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(A)0.1 N

(B)0.25 M

(C)0.5 ppm

(D)1%

15. pH3h 3 ik & 35 kB EpHAR R e B 13 9
(A)0.01

(B)0.1

(C)1

(D)10
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(A)5. K
(B)= ;8
(C)t %
(D)§ i
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(A) 3 45
(B)*

(D)=

18. T Al Bk 1 oihgit o ooF AR
(A)s - A7 3 F &

(B)Jik #5 4v At T ¥ i &

(Cyfs B & 5 - # [F

(D)#s v B g 2 AF & F7 12 (birefringence)
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(A)sg ~ f& 3 §F
(B &+ 2+ &
C)&+ L+ F
(D)s 7 & it 3

20. 5‘5314 Wz - wPEy BRLAT Y
(A)#& t5

(B)ﬂi;é ﬁ_‘r?;

(C)iF 7 &

(D)3 *
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(A)X & F B KR & (Millon’s reaction)

(B)& ¥ F B & F %9 & J&(Xanthoprotein reaction)

()R &4 B F K £ d®F K (Ninhydrin reaction)

(D) & (%)% * & (Biuret reaction)
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(A)fe -4 fF

(B)de *= 5 pk

(C)~< §

(D)#: e &
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(A)FT &4 ¥ A

(B) % B4 ¥ 2

(C) i & =

(D) iE_ig & fz
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(C)fq A padl £ AX £ > ZF R AR ]
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25. F M chX L T 7
(A)L4amd 3 28 F » €1
(B)#% oF Mk = € 1 i R R E SN R BB

(C)* #L & A w R %

(D)fg & & it A7 i xR %

it P K B 7

26. P20 geih fib St Z A 47 FL ¢ o 40~ 50 mLehe ERer o
B A A X o Epkd A A 201 N(F B A 1)hE § ot de
BB R 05 MLE Aok d BB o R Y P
G
(A)0.11
(B)0.14
(C)0.21
(D)0.41

27. ¥ P& g B ¥ 7 g A L
(A) % i pit

(B)E # =

(C) @

(D)= ik

28. xR GRS s B KB RRRERRESF LY
(A)AgNOs
(B)NaS203
(C)NaOH
(D)KMnO4

29. MA 4 (KIO3) Bk iF a2 2#C7 EpF o * chdy 1 & G
(I

(A)" 4 =

(B)" & &

(C) #

(D)%
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30. ¥ A2,6-- % #p B BEMARY ERIIIR S > FX P2
sCER MBI B R B RPES L
(A)#& 4
(B)¥ ¢
(C) =
(D)% ¢

§ ¢ Y FEAYE L
(A)70 ppm
(B)100 ppm
(C)200 ppm
(D)7 ¥ & o
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(A)i& ¥ i 7§

(B)& it i

(C)p& i

(D)* %

33. @ * m A K T ﬁiﬁ?w?%’é%f32% B A
AR B AL '16?9 PR E 28 RfE L 5 2
(A)0.25

(B)0.35

(C)4

(D)5
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(A) X & &l

(B)#Fl 7T |

(C) 39 F 7 H
(D) & % & & &
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35. ¥k RARGIEM > L4 5 SR Y 3
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(A)0.1 mg/L

(B)1.0 mg/L

(C)0.1 mg/100 L

(D)1.0 mg/100 L

36. 5100 mML#-k # & » 12 0.01 MeREDTAYR 73 72 (5 mLip § *
1 mg CaCO3) if %+ % if #525 mMLid jf T & B+ 3B 3% K #f & o
WA RS 50

(A)400

(B)350

(C)300

(D)250
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(A) & /el B-v (Fe?")
(B)¥ & vl 3-d (Fe?)
(C)® tr=iz 34 (Fe®)
(D)= # "l B9 (Fe®')
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(A)B B BE2

(B):* % pH i ;2

(C)& ¢ £ 2 $p

(D) ¢ (% %
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39. ¥ i¥ % FF.;%’?;{Q PR 2 a8 g §g|]ﬁnjfl§4c;lr§z{:
(A)Fr it 4T

(Bt ¥ i

(C) & # it

(D) = %

40. A E &
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(A) 5

(B)#

(C)4E

(D) &
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